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1 | 058278 |LIO|AOLE 29,500 | Z}AEE Q] | 408
2 | 05&28¢ |LIO|ADLE 41,000 | #2EH Q| | 399
3 | 05&29¢ |LIO|ADLE 45000 | 224 2 | 379
4 | 062018 |LIO|ADIE 28200 | AEZ 9 | 379
5 | 06302¢ |LIO|ADOLE 29,800 (2 EOIE 2| 37H
6 | 06E03¢ |LIO|ADLE 33,500 (22|xH2]| 2f 37
7 | 062042 |LIO|ADOIE 23,800 | Z}AELE Q| | 37X
8 | 06205 |LIO|ADOLE 42,000 | 229 2 | 389
9 | 06E08Y |LIO|ADLE 41,000 | 72 EH Q| | 389
10 | 06209Y |LIO|ADOLE 36,600 [Ht2EOE 2| 38H
11 | 06&10Y |LIO|ADOLE 30,100 | = 9 38H
12 | 06&11Y |LIO|ADOLE 27600 | LOA 2 | 38H
13 | 06&12Y |LIO|ADOLE 42600 | 228 2 | 389
14 | 06315¢ |LIO|ADIE 34,500 | BE{sILAl0l 2 | 36H
15 | 06&16Y |LIO|ADOLE 48,600 | =302 Q| | 36H
16 | 06317 |LIO|ADIE 28,000 | HHE{QI= 2| | 359F
17 | 06@18Y |LIO|ADOLE 24600 | LOA 2 | 358
18 | 06E19¢ |LIO|ADOLE 70400 | =24 2 | 359
19 | 06&22¢ |LIO|ADIE 50,500 [ol¢|=Z2 = 2| 359
20 | 06E23Y |LIO|ADOIE 45,500 HQEC 359
21 | 06E24¢ |LIO|ADIE 30,100 | OF7tEIE Q| | 358
22 | 06E25¢Y |LIO|ADOLE 22,800 | 7tAELE Q| | 351
23 | 06EH26Y |LIO|ADOLE 37,800 | =2 2 | 359%
24 | 06229¢ |LIO|ADOLE 44700 | AEHZ Q| | 359
25 | 06&30¢ |LIO|ADOIE 25,800 |&==300|Q|| 35&
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